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n. All questions are compulsory.

Who is known as the father of child
centric education ?

(A)
(B)
(C)
(D)
Who conducted the factor analysis of
intelligence first of all ?

(A)
(B)
(C)
(D)
Reading of literature is essential for
children because the child

(A)
(B) develops imagination -

Dewey
Froebel
Montessori

Rousseau.

Thurstone
Gardner
Carroll

Spearman.

acquires knowledge

(C) acquires difficult words
(D)

Individual differences occur among
children due to

(A)
(B)
©)
(D)
What may be the probable causc of

mistake in writing the same spelling
repeatedly ?

(A)
(B)
(C)
(D)

builds character.

heredity only
environment only
growth

combination of first two.

Learning disability
Low vision
Tendency to commit mistake

Low intelligence.
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10.

As a result of cooperative learning
among the learners

(A) learners become self-reliant

(B) all learners learn equally

(C) learners' motivation declines

(D) they do not feel the needs for

teachers.
Which one is correct ?
The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily
(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the
learners ?

(A) By never imposing punishment

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody

(D) By advising them not to be

anxious,

The way of teaching the learners
about environment is

(A) to get them acquainted directly
with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.

According to Vygotsky

(A) culture is the outcome of
education

(B) culture is the tradition of
education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor

of learning.
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Effective way to know about a

student is

(A) evaluation

(B) play

(C) visit his home
(D) observation.

What will you do if a student is
repeatedly  teased by another
classmate ?

(A) Punishment of the classmate
(B) Separate sitting arrangement
(C) Counselling of the classmate
(D) Call the guardian.

How can teacher identify brilliant
students ?

(A) On their examination result
classroom

(B) Observing their

behaviour
(C) Getting family history

(D) Based on the relationship with

other students.

What is the best way for a teacher to

maintain discipline in the classroom ?

(A) To assign group tasks

(B) To lecture about the need of
discipline

(C) To lodge complaint with the
headmaster '

(D) To impose strict punishment.

Cause of failure of students is

(A) lack of memorization power

(B) not to strive for assimilation

(C) absence of frequent tests

(D) not to follow the teacher.

[P.T.O.
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(D)

Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest

(D) development of spatial
reasoning.

Which one of the following is not
related to creativity ?

(A) To think quickly

(B) .To perceive relation between
impossible things

(C) Work hard continuously

(D) To solve problem in a novel way.

How can one understand the extent
of student's learning readiness ?

(A) Spontaneous interest

(B) Correct answer to the teacher's
question

(C). Requesting teacher to dictate
notes

(D) Completion of home task
regularly.

In examination copy most of the
students have committed error in
answering a question. What may be
the probable cause ?

(A) They did not pay attention in the
classroom

(B) They did not study it at home

(C) The language of the question
was not proper
The teacher did not say that it

was important.

Sometimes the first generation
learners may be inattentive in the
class, because

(A) there is none to help at home

(B) has to perform many household .
work

(C) there is lack of effort in studies

(D) difficulty in understanding the

teacher's language.
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Modern education system is
(A) curriculum centric

(B) child centric

(C) bookish

(D) teacher centric.

What is meant by concept ?
(A) Specific knowledge

(B) Judgement

(C) Picture

(D) Imagination.

In which stage of life development
does child start to speak ?

(A) Infancy

(B) Late childhood
(C) Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(A) language

(B) isolation

(C) observation

(D) independence.

Concept formation depends on

(A) learning

(B) transfer

(C) vision

(D) imagination.

What is the duty of teacher in

generating motivation among the
learners ?

(A) To advise the learners from time
to time

(B) To rebuke
mistakes

occasionally for
(C) To accept the level of success as
one can attain

(D) To maintain very high standard.

[P.T.O.
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27. How can the interest of the learners

28.

29.

30.

be maintained ?

(A) To deliver good lectures

(B) To cite good examples from the
text-books

(C) To cite examples from the
learners' familiar environment

(D) To check studies everyday.

The knowledge of learners' emotion is

essential for teacher. One of its

reasons is, teacher can

(A) remove anxiety of the learners

(B) control anger of the learners

(C) keep the learners quiet by
threats of examination

(D) stop amusing behaviour.

Which one of the Acts is not related to

inclusive education ?

(A) Right to Education

(B) Prevention of Child Labour

(C) Prevention of Corporal
Punishment

(D) Custody of the Special Need
Children.

What is the meaning of

comprehensive evaluation ?

(A) Evaluation of  the whole
curriculum

(B) Evaluation of all-round
dévelopment

(C) Evaluation of the whole
intellectual ability :

(D) Evaluation of all students
simultaneously.
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SECTION - 1I
Language - English
There are 30 questions in all in this Section.
All questions are compulsory.
Part - A

Direction : Read the following passage and answer the questions ( 31/61 — 38/68 ) that
follow :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve
one baffling mystery after another. The Hardy Boys were so popular among young boys
that in 1930 a similar series was created for girls featuring a sixteen year old detective
Nancy Drew. The cover of volume of The Hardy Boys states that the author of the series
is Franklin W. Dixon; the Nancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dixon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published
books.

The initial idea for both The Hardy Boys and the Nancy Drew series was
developed by Edward Stratemeyer, who owned a publishing company that specialized
in children's books. Stratemeyer noticed increasing popularity of mysteries among
adults and surmised that children would enjoy reading mysteries about younger
detectives with whom they could identify themselves. He first developed each book with
an outline describing plot and setting. Once that is completed he hired a ghost writer to
convert it into a book slightly over 200 pages. Once Stratemeyer approved the book, it
went to the print.

Both the series ran for so many years and that is why, both of them had a number
of different ghost writers. However the first writer for each series proved to be the most
influential. He was a Canadian journalist by the name of Leslie McFarlane. A few years
later Mildred A. Wirt, a young writer from Iowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves. Wirt
had been a star college athlete and gave Nancy a similar. ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the books in their children's collection.
Ironically this decision actually triggered the sales of the books.

Regardless of the controversies about their literary merit, each series of books has
exerted an undeniable influence on American and even global culture.

988335 6001 ER.T,
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A ghost writef is someone who
(A)  writes about ghosts and strange events
(B) does not receive credit as an author
{‘C} invokes spirits and supernatural elements to write
(D) takes lot of money for writing.
What does the word 'surmised' mean ?
(A)  Guessed | (B) Questioned
(C)  Knew (D)  Surprised.
The Hardy Boys and Nancy Drew series were created on the idea that

(A) mystery books for adults are popular

- (B) children enjoy reading about characters they can relate to

(C)  girls and boys are not interested in the same thing

(D)  the writer needed money,

Some teachers and librarians objected to the ghost writing series because they
(A) disapproved of mystery stories

(B)  thought that the books were too expensive

(C) believed that the books were not quality literature

(D) disliked the business practice behind the series.
Which of the following describes the author's attitude towards the series ?
(A) Balanced and respectful (B) Doubtful and critical

(C)  Hostile but forgiving (D) Overwhelmingly appreciative.
According to the passage the Nancy Drew mystery series was introduced in
(A) 1927 (B) 1925

(C) 1929 (D) 1930.

Which would be the appropriate title of the passage ?

(A)  Ghost Writing : A Way of Life

(B) The Dubious Yet Profitable Practice of Ghost Writing

(C) The Hardy Boys and Nancy Drew : A Ghost Writing Series

(D) A Critique of Ghost Writing.
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38/68. - Who was the real writer of the series according to the passage ?
(A) Carolene Keene (B) Franklin W. Dixon
(C) Leslie McFarlane (D) Hardy.

Direction : Read the following poem and answer the questions (39/69 — 45 /75) that follow :
Futility
Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow.
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke. once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir ?
Was it for this the clay grew tall ?
— Or what made fatuous sunbeams toil
To break earth's sleep at all ?
39/69. The meaning of the line "Woke, once, the clays of a cold star" is

(A) broke the cold star into pieces

(B) brought life into the cold planet now called earth

(C) made the clays of the planet

(D) made a cold star warm.

40/70. If anything is capable of awakening "him" it is

(A) the warmth of the sun (B) the sun alone knows

(C) the daylight (D) the morning snow.
41/71. The poet "urges to move him into the sun " because

(A) it is warm (B) it woke him once earlier

(C) it is day-time (D) it will ease his pain.
42/72. The sun "always" woke him in

(A) England (B) India

(C) Italy (D) France.

988335 6001 | P.T.\O,



43/73.

44/74.

45/75.

Direction

46/76.

47/77.

48/78.

49/79.

988335
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"Was it for this the day grew tall' — is an example of

(A) metaphor - (B) metonymy

(C)  chiasmus (D)  alliteration.

"... what made fatuous sunbeams toil ..." is an example of

(A)  synecdoche (B)  periphrasis

(C)  personification (D) shﬁile.

The general tone of the poem can be described as

(A) sad and tragic (B)  full of mirth

(C)  satirical (D)  humorous,
Part - B

Answer the following questions by selecting one option :

‘Overlearning' is the term used to describe

(A)
(B)

(C)
(D)

(A)
(C)

practice that continues after a perfect recall has been achieved

the practice of learning over and beyond the requirement of a particular
class / age

the practice of spending too much time on studies

the practice of overburdening the students with tasks.

Tasks to improve spelling should not include

reading (B) listening

writing (D)  use of dictionary.

Giving dictation is not useful for

(A)
(B)
(C)
(D)

learning the correct form of the language
developing language skills
developing short term memory

helping students to spell correctly.

How can language comprehension and proficiency be evaluated ?

(A)

(B)
(C)
(D)

By evaluating all the four skills in different periods of time throughout the
course

By evaluating all the four skills at the end of the course
By evaluating only reading and writing
By evaluating only speaking and listening,

6001



50/80.

51/81.

52/82.

53/83.

54/84.

55/85.
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What is the main challenge of teaching language in a diverse classroom ?

(A)
(B)
(C)
(D)

Facing slow and weak learners
Facing a mixed-ability group of learners
Facing infrastructural problems

Facing the good students in the class.

While using problem solving method the teacher should

(A)
(B)

(C)
(D)

participate actively in the process
encourage divergent thinking

ask the students to consult their parents

look at the students' activities from a distance.

Effective learning takes place when the students are

(A)

(C)

quiet | (B) obedient

interactive (D) - preparing for examinations.

A teacher can best develop communicative skills with the students by

(A)
(B)
(C)

(D)

encouraging to speak in that language continuously
giving dictation
correcting grammar and spellings

giving students homeworks in that language.

While communicating ideas in written form grammar has

(A)

(C)

a key role (B) mnorole

liberal role (D) none of these.

Key principle of language teaching is

(A)
(B)
(C)

(D)

to motivate the students in the process of learning
to facilitate the learner-centered classroom activities
to maintain discipline in the class

to show the teacher's mastery over language.

[ERARCY
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56/86. In a language-teaching class the primary skill(s) to be developed in children is/

are
(A) Listening : (B) Speaking
(C) Listening and Speaking (D)  Writing.

57/87. A multi-lingual classroom is
(A)  students with different mother tongues
(B) students coming from different regions
(C) students with different cultures
(D)  students with different social backgrounds.
58/88. Gender stereotypes can be discouraged by
(A)  helping the boys to accept failure
(B) encouraging girls to take up sports
(C) asking girls to arrange for the snacks in a class picnic
(D)  encouraging girls to take up challenging jobs in life.
59/89. Abstract intelligence tests
(A) verbal skills.
(B) manual dexterity
(C)  numerical ability
(D) manipulation of symbols.
60/90. Today emphasis should be given to
| (A) electronic gadgets used for teaching-learning process
(B) chalk-and-talk method of teaching-learning process
(C) learning through foreign collaboration

(D)  value based teaching-learning process.

988335 6001



21

fawm - I
v -
Section - II
Language - Hindi
7o faum 8§ F@ 30 W § | Wit v sferd €
There are 30 questions in all in this Section. All questions are compulsory.
Part - A

fcer: ﬁmﬁ#ﬁaawﬁww%mw_mﬁqmwﬁ(wﬁm 31/61% 36/66T%F ) &
I F foru gad 3fem foswey 9T ¢

“am A e i ® g | ",
T TRt § ST ST W
A &= TR S A g,
3TEV ISATIA TS 3T W § |
Foua1 § 37 7% IS4 W qH,
e | fagtet ged ® 99 |
| TR A F I AW,
TS X WS 37 W
31/61. &fa @il 1 & ST 9w € ?
(&) e S A g9 e
(B) itk Tw & wfetieran o0 % 3R 3 WIfd F 99 W AW a9 Fh
(©) gz & T § 3Hfey
(D) I% Hfa &1 QAT € |
32/62. ' el FEEA T 9 A g’ —
dfe o WIH-W1 SAAFR B ?
(A) N (B UM
(C) ®IH (D) A9 |
33/63. HiA H1 ST IHH B Fehell § |
A _ (B) Hiamed
(€) ITH (D) . Smfd |
988335 | 6001 [ P.T.O.
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34/64. & g H G 1 a7 o ® 2

(A) gF Ft 9T B (B)  uftget g

(C) &= B (D)  feamgE &
35/65. &fa @M & wel Tl S M 2

(A) T H. (B)  3qe e H

(C) <=l g4 o g (D) 9a9 & [@ W |
36/66. fa fFw @& & =fFdl # g=ifyg s wr & 2

(&) S sTafus 3 ¥

(B) i 9ga ufigwt &

(C) St Sfie & wSR arfarwas ¥ Jwer &

(D) ST ST F F=rEdl F G AR §

for fFrfafad Teiv 1 vget 9% SR R 5w T wwE (W @@ 37/67 @ 45,75 7% )

& S & foru wag 3feq faese g .

forraan &1 @€ e wga St ¢ for forman % form o & # o T | Tw AW 9 g
A A € SerETR % fory ot agd amies e wHEsEE § — 9 S9
A # AYHEA AR THd S k1 Al B i =R 9% qud @ @ Sws 8 | 9% 99
fAf=ra & o6 St wqer wafergEs Sftam sadia s wew @ suE fau 9 U e §
e srcafaaftar ot & ofit fomd o 30 & ot @t @ o ¥ 0 g 9 W@ T
TR T AMfET fF 9% 9gd 9 96 @ ¥, o797 & eyl @ 9% 9ga 9 ¥ o s
SHIETT ITH! AT & el 7g) 52 § | SH 39 91 H1 AW @ wIRT R g oy wel
& THE H, DI AR AR A § B F FAER F, F A SH-HAG F o
SEAYEH € | qE WA HER, S FD 7 € o o F9 w9 § — wuw iR, w9 emam
Eﬂﬁaﬁ,wﬁ*ﬂn,sﬂﬁmaﬂtwaﬁm,magﬁﬁw,aﬂuﬁ%www
T T YA Fohe A € foh TF AT oM &1 99 @ AfeT | Tt § A0 st
T @ TR ® FouE w0 v gud g aa # fe sHe gy et ik s
Y QB Wt R, o wRn agd % wHa it 1 e ¥ ol oo v W we @ e
a1 ol 7T X wHa | T w oS sHE a9 & Ty A €, 39 9% 9R fR 9
ST | He SO AR € S WS qw H ek feufq F ofiw oraeh e ey faert &

37/67. 'wtHEygs’ &1 wfy-fa=ve §

988335

A)
(C)

T + AEEF (B) T + 9¥TH
WH + ATEAYIF (D) = Y + EYEF |
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38/68. ‘AAfumm’ vsg § IUE H1 HH-G1 fawed wET ¥ ?
A) Y+ A= (B)
(C) W + T (D)
39/69. T T F IYFE Vv 7
(@) (B)
(C) SAH-TATel X T (D)
40/70. 94 %@ Sfiaq Sdia e Fed € 2
(A) HAHSTTH (B)
(C) wARYE® I .[D]
41/71. STeq-TaE % forw smeavas §

3 + immE

A + 3 |

fagan v @d=ar
famgan =1 we= |

vyt
ferenfaargel |

(A) 397 Q S 1 A FT A9 B AR THR A W HIHAAAGEF FAER FHA

B) T9R wAfE H @A
(€) fo=mar &1 =HaER &
(D) STY SATeHT T FH @A |
42/72. AEER ¥F fo smavas &
(A) Tg-TIie (B)
(C) wFfEs T (D)
43/73. T T ¥ AT T FA &0 B @ g ?
A =1 (B)
(C) ¥hed (D)

44/74. ' AH-EHR' H WY 9 ©

(A) U (B)

(C) dcIes (D)
45/75. '’ g w1 fawdiad® W ®

@A) 9T (B)

(©) el (D)

988335
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Part - B
ot : mm%m#mwﬁwﬁw—gﬁq:

46/76. T e = wmmﬁwﬁﬁﬁmmmﬂwmmwwm ?
(A)  HISIgEE (B) EMHM dret=ed

(C) vamMYZE = ' (D) U¥ UBA H |

47/77. YRS Ha H UgaTel TET A ‘T’ Aot el Bl SR o i @ el & | B8 H 31y ==
H4T 2

(&) 38’ w W= T o o A F forw |

(B) R RS A H o M-S e F ferg

(C) =&l ‘S’ el v W g

(D) mﬁ‘g'mﬁm&ﬁﬁmmﬁwaEmawaﬂm%Wﬁaﬁwamwﬁl
48/78. armmwﬁmﬁaamﬂmﬁmm% *

Wwﬁr:m
(A) ofa: geHd § : (B) 3ivE: WeHd ¥
(C) focgper wema 7T & (D) Wewd § sit o 7 oft

49/79. WA TR R "G1-ae 1’ hive F fawma § SH-dt fafeat sifus geras ¥ 2
(A) wEH-HYT R goore |
(B) hfad-yre iR srr-wanremen
©) Hfwer-frafe ( I9-= ) R geER-aEA
(D) yfushi-frafe s ama=ia w5 |
50/80. I= H WINI-YaTe qe Acheh Aokt 1 Yerisnd A ¥7 39w &
() fofaa whemd B) wifesw amfery
(O | (D) T8 9 HIE T |
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51/81.

52/82.

53/83.

54/84.

55/85.
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forerr SR e o Wi & Foh g S F T 38 9 i w5 € i e
¥F @edi = i fman = @ & W ?

(A) FHAH H (B) =HH

C) TEHH (D) Eﬁ@%ﬁqﬁ|

TreAfie WR W STl e 1 weige oned §

() TR Foed (B)  EwWar gUTe

(C) e T ot (D)  STeA-FRTee gomett |

we H FO a1 e gdAl 1 A Fd Y foed € | 3% gUA & fae smy & w4 2
() 38 T e SR e afE o g e § fie’ w3 wee @ w6
(B) v @ q9-29 AR wEl @ik @ foe % fore e

(C) =i ® ST I H STEHH FUAN

(D) Waﬁmﬁmﬁfﬂwwﬁtﬁéﬂwmwﬁﬁn
m%waﬁﬁwﬁa’%ﬂfaﬁﬂ%mﬁwﬁwaﬁqaﬁﬁ%mwﬁ?
W i R A g R e s

(B) = F wral-fud F O I AAH FA F e

C) T F FE-FH T @ Tl BRI FA

(D) 3T & |t |

a1 &1 wfera eI fFd ed € 2

@) o= = &1 e = §Ed €

@) fo o & =t wRfed €

() fo =l iy a= A €

(D) o wsdi &1 a1ef w= o € R W R €
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Aa) Bqamﬁqﬁ%?f? (B) T ygfaai & ufieds
(©) =afaama Sromadi § yfads D) s ASE T

57/87. T GHET FHE § -1 FHoH wraT-ferern & fasidl % i & 2

58/88.

59/89.

() = ¥ Frm far @ a1 - R e @ @

(B) aﬁﬁm@wwﬁmaﬂﬁaw—m%ﬁmwm%
(C) o 9w & wa wfsfa # st &

(D) ﬁz—mmﬁa'wm@%ﬁmﬁm%|

e ¥ feu M fesll @1 w7 s2em B & 2

@) T srpd Seheaisll 1 wwer ¥ e ww ¥

B) ol & weagws swdE w &

(C) fot ure &t vt s #

[D). grSIgE § fod 3 & y=mem €

mﬁﬁﬁwﬁwmmﬁwﬁﬁﬁmmmqﬁ% ?
A) =efes (B) g
) e . (D) WAL |

60/90. 771 H | T SyaRTensh s ferr 39w goen w6 & 2

988335

(A) w1 e F e e % R e 5 g
(B) meﬁm@aﬁ%ﬁm

() e 1 Ygd T et Tt sfed @ v
(D) 79 & |t |
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faum - 11
UTHT — SOTeAt
Section - II
Language - Nepali
Tg faymT S 30 921 W B | W WeTeEd! S fad st ¥ |

There are 30 questions in all in this Section. All questions are compulsory.
Part - A '

A Frefafes T WY ST (31/61 - 40/70 ) IEEEH! Wal ST SR

TEMA SRS T T R g gafos afsm | Jde wle S geie
Treft, fafea QaaE S Teesy TR SreE Terg ¥ ufe faes | e sEe SR
fegr fody W, IS Wede W M | W Tiedd e e ggl )Y — g8 §e
refig e g T Treda Tiel Sk 1#%@@%—@,%,%,%1
= gel Ul | S AfF wE Wi eﬁt—aﬂ@?,mar@ﬁﬁqwa‘ﬁm | THIeL
e TES R faeneffewe TR O Ao g3 A A a9 e e W
‘el TSE’ — o g TR TR fem @ |

Wﬁﬁmmwmﬁ%mmwﬁﬁm%waﬁaﬂfm

FRU gE A AR @S | Sferdeen anH TR IRAAeears we e

SR ST YE TR SN SR STl vare Wiel el SRed 9 R
31/61; ‘Afqw' Fwi w= & ?

() E ®) s

(C) wEH (D) e EEA |
32/62. ‘faeneft’ $7 wfeet R 8 ?

@) e afy B) < Ffy

() fradt wf (D) e B |
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33/63. ‘@’ w=FH ‘7' T THA T ?

) dfga B  Fq

(OMRERIED (D)  deeT g |
34/64. SUYw TV er3A ¥iYH FA & ?

(A)  TEM SIS - TR | (B) ?fﬁrmmaamﬁ—nr—%ﬁ

©) Féﬂmwm~w (D) TEE=FAEAET - TR |
35/65. ‘faned’ wsw FA-F7 @R vl AA B ?

@A 3+ A B FA+H

(C) =1+ am D) am+3F
Swsa.'mﬁn'w‘a‘@?mmu@g?

(@A) w=E B) i

) F&F (D) aﬁ‘:ﬂm{ ¥
37/67. T fFA sRaeR gEE 9T @ 2

(A) T SIS WA WU

(B) Tt IR ®UH e AE SE Sferdn quae

| (C) Tt Afaes wifsadr seam YU

(D) Hdq s SHaet gl |
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38/68. Afasw wfsrh TR 21 g
A) o wfa
(©) TFae &
39/69. ' F&1’ wE WK 7 ?
(@) g

(©) fwan fagym
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(B)

(D)

(B)

(D)

qAfas wfe

=g 9 |

fargraoy

Fa |

40/70. ‘3 el fEwm M — TEA AR G o F FREwI faw w2

(A) i

(@) AUEH

(B)

(D)

EEad

ATYFT |

B. frfafed weie wex @ifaws (41/71 - 45/75 ) Yo eesH Hel ST SR : -

‘TeR | d sfa W | s e W g Aesfuemn wfR A @een g 8 afodfs

SEMASH! qe |t |

41/71. 'TEHA’ FEN TR T ?

(A) =

(C) <o
42/72. ' FA WA ?

(A) I T

(C) 1= g&y
43/73. ‘Tasfiem’ — = 3d F @ 2

(&) T 3=

© el wgfa
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(D)

(B)

(D)

| 6001 |

qTS |-

T THY

Tior gEY |

ECiicresi Al .
[ P.T.O.



30
44/74. '’ F= T B ?

(C) zum : (D)

45/75. ‘TEmd’ — & A F 7 ?

A) T=hel AT (B)
(C) mme faemt (D)
Part - B

46/76. NYTH TSTHTA ﬁmeﬁzﬁaﬁ
@) Afaew fasmam e T8 (B)
(©) watgtor fosram wewar TS (D)
47/77. 'Psychology’ W& F WINTH! ¥ € ?
(@A) wEfeA (B)
© %= (D)
48/78. fosme! = @ed &% € ?
@A) =i fawmE (B)
() wrfEe fashma (D)
49/79. e fagrae gfaues &1 g1 ?
@ & (B)
(C) Tfrsit (D)
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50/80. ‘3e4" YFTHTEH TEIREF H T ?
(A) AREHET gYH (B) ®HREY fHg
(C) TSHREY F4H (D) HEEREIG 9= |

51/81. Wifewd ThEHT qTEHR WH T dfewl YR el Sifecasr 1 g ?

@ fragar T (B)  gHeETgy W

€ ITEIg=™ D) TREHTT G |
52/82. ‘geiag ufer’ T wEA WERM & 2

(A) gEEH (B) AR

(©) D)  fowp |
53/83. 'wifag’ & g ?

(@A) TR g faee (B) EER T fagm

() omifesr fagm (D) SEAETE fage |

54/84. "We must procure the best teachers for our children whatever it may cost."

4 FHGH! AE BT ?
@) sy (B) TS
[0 =y swfa= (D) A T |

55/85. ¥ Ff=a fame wade =t g1 ?
@A ™ B) E
€ FomtE D) fodwE= |
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56/86. ‘gfEE! foren uiteea’ Fuh! AfEwhs! 399 8 ?

@A) o=y (B)  TIESH

(C) THFVH (D) TAEEEER |
57/87. faeman &= Tora, trﬁguam’q' aq—wf&umara#%’! ?

A nﬁgﬂa&a (B) agﬁaw

(C) wifd (D) favawmf= |
58,/88. TISTH! TYFHH TEATASAZ Y& WTH Fi9g Fiefas A< 78 & & 2

(A) TEHEA I (B) AW e

(C) FRfemEl =TT (D) TEES<dER A=A |
59/89. ‘g8 T WG’ FHEA or@sHh! A faumn Ffa & ?

(A) wFERE gRMgH fafEa wun gggrE

B) e wgareg fafad wfam T

©) srmfds fifigr fafaa gues=

(D) arEFw GHgN fafad Tueds |
60/90. Fr=fafaa F=ife wfteragr fafea so=md & ?

@) T wa ® (B) et @

(C) Sas "= | (D) S A= |
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Qe - II
QeI - 6el

Section - II
Language - Oriya
Q8 JaIe6a MG ge QER | 998 g9eeea Aaa el ARRIY |

There are 30 questions in all in this Section. All questions are compulsory.
(31/61 - 37/67) @F @AGIG QI0RA AreY GA6AIE QAR AMUIQ A0& QA G2

“AQE Q. AHQE, QSN IR 919! |
gQ o QY AR Q6d | cRIGeIe Q6a 19! |
QIQ 66Qa ALY QAIEN-619-a,
cRIQI Q1T g, a8 G2 @6 | aR ace 2de |
A6 G0 AAQ AR RIQER a9,
I8 ¢ @891 00IRA 97 IR 1eR-ae |
@é@“ 7 6@@0l, AIRQ A9 | 8 AP 624 |
AIRe 68 a7e AIQl RGe €18 69Q |
2108 deer 630091 AGe 280 AP,
2360 o6l @9Ia@ a8 2Q0qQ Q' I”
31/61. @Qdl edlont @ ? |
(a)  QAgYIde B) Q8
(C) dlIeQa fIal (D) Qg&N |
32/62. Q8 @6 gém ?
(A)  6QQ0I (B) fle@

(C) Q|9rd 699 D) QB |
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33/63.

34/64.

35/65.

36/66.

37/67.
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6686Q @Adl QRe Q'8 AIGeR ?

(A) Qoga g ) (B) €9 dale

© a8 cTeuen D) A8 aa |

dQy dalf 20l 8R91 ALRQ /'8 €I AIGE ?

A)  MQ B) QA

€ Qe (D) @Ql

‘cIae QI1Q'- 65Q9 6@ aQ 7

A) @9l a8e (B) Qca8iQ @66188

(C) Q6088Q 6686 (D) - QIR 6684 |

‘AT 6RQ 99 ?

A)  F69I19R @s@ﬂﬁ (B) @42919@ Q688Y

(C) @I 688 (D) 9gQI9R Feaay |
.

0 @180 9197 6PQ AIRAIQ QIQIEN galeisa Q&0 cRIAR -

(A) V@l 484 QIQIen

(B) YQI A9SY B F6UINGRO @IQIEN

(€ 594 404 G AREHAA!

(D) 9N O3 AREA A9 V136 629IQ QSN 2T |

[6001 |
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(38/68 - 44/74 ) 000G ARERAE AQ Ar6Q G2 ARSI 0666Ra 08 AAQE G :

n oL

‘99 62919 GG ARQ ASITE 1BAe NIER Ve AQIQ Cel edNe | ¢dled ceIcY Gcas
QB8R 99 629, YR ARIPrdIca 6AITY e 28 | AIR8. QI CAR R TR CREREIER ARSH
eHd 6 IRCEQEN 6QIRAIT | AL, ARIFINGA CIAAAR FR6I 6 IR T6a8 QS A |
@g 09 @199 6@eR QRWIQ 90k ATITO AR FQUR. Q19F 6U6R TR R CEPA AR, 69
ge1e, @401 6 2616 0al @a6a, ATER 4Q AYQ Q91 AACAIS AR 68 RS © QU I”

38/68. 'QQ’ 41a 6AQ Ugleq ML 6RIAR ?

A 919 (B) &Qe

C) Qd& (D) QaéNg, |
39/69. 88 @lad ¢AIEY FEAEA ARIAIGI CAIBE R6R Q'E QU ?

(&) QEQQ Agee QY _ (B) YRRl QY

€ Yeceaad gu (D) AUAGRAN QY |
40/70. N0I6Q ‘Y’ €Q A @'6 ?
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e 8
Section - III(a)
Mathematics & Science
@3 fFere @b 60 B 2 Bz | @ 2[R @8 Raafl 539 s O e e Ted e 2@ |
There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

(x + 3)(x - 3)-4 x-49 A% PO ?

A) 1

(B) 2

(C) O

(D) -1.

x? - 8x +15 AMTa Seomepafer 2ot
(A)  (x-5)(x+3) |

(B) (x-8)(x+7)

(€) (x-S5)(x-3)

(D)  (x-8)(x-7).

a’p® L a’b? U a’p®-@q @e. 32¢°

R b-Ea9 YA 2

(A) 32
(B) 24
(C) 6
(D) 2.

i A e o b5 AR

AR, (a + b) RECT AA1S. IW

(A) (a®+b?)

(B) (a?-ab+b?)

(C) (a? +2ab +b?)

(D) (a? +ab+b?).
95. 199-43 T4 &

(A) 7880599

(B) 9703011

(C) 7680951

(D) 6879091.
988335

9l.

92.

93.

94.

95.

The coefficient of x in the expression
(x+3)(x=3) is

(A) 1
(B) 2
€ O
(D) =1,

The factors of x> — 8x +15 is

(A)  (x-5)(x+3)

(B) (x-8)(x+7)

(C) (x-93)(x-3)

(D) (x-8)(x-7).

If the L.C.M. of a’b° 3 a3p? ; a?b® is
32a*, the value of b will be

(A) 32
(B) 24
(C) 6
(D) 2.

The product of two terms is a3 + b3
and H.C.F. of the two terms is (a + b).

So L.C.M. will be

(A)" (a® +b?)

(B) (a®-ab+b?)
(C) (a? +2ab+b?)
(D) (a? +ab +b?).
The cube of 199 is
(A) 7880599

(B) 9703011

(C) 7680951

(D) 6879091.

[ P.T.O.



96. 4,7, 12-a9 59 A 24
(A) 28
(B) 21
(C) 14
(D) 35.
97. 50-83 x % = x93 y % ¥E y-99 WA
Byl
(A) 25
(B) S0
& 75
(D) 100.
98. 3x2 -2yz+5z2 @8 NRANEAR HTHLI
Eol
A) 4
(B) 3
€ 6
(D) 5.
99, 55 kg fAIeET 25 kg Wl @ SRR O
I SN 8 T TS F© ?
(A) 11:5
(B) S5:6
). 6:5
D). 511
100. @36 (T IRNW A-99 FF B-@9
FEa faed A-@q e 428 B
21, B-AF g B4
(A) 214 Gl
(B) 556 bI<l
(C) 107 BI=l
(D) 856 Bl | _
101. @36 simorea 5 (P19 Zet 73°, 97°,
146° @32 138° | 2N (@Ibd AW
(A) 113°
(B) 104°
(C) 86°
(D) 83°.
988335

. o8

96.

97.

98.

99.

100.

101.

The fourth proportionate of 4, 7 and
12 is
(A)
(B)
(C) 14

(D) 3S.

If x % of 50 = y % of x, the value of
y will be

(A) 25

(B) 50

(C) 75

(D) 100.

The number of variables

28
21

in the
expression 3x? — 2yz + 522 is

(A) 4

(B) 3
(C) 6
(D) 5.

If 25 kg of zinc and the rest amount of
copper are present in 55 kg of brass,
what will be the ratio of copper and
zinc there ?

B 118
B) 5:6
) 6:5
(D) 5:11.

The principal amount of A is twice of
B in a joint business. If the profit of A
is Rs. 428, then the profit of B will be

(A) Rs.214
(B) Rs. 556
(C) Rs. 107
(D) Rs. 856.

Four angles of a pentagon are 73°,
97°, 146° and 138°. The value of the
fifth angle will be

(A) 113°
(B) 104°
(C) 86°
(D) 83°.



102. NS ABCD € ABEF-@3 CHa%e

103.

104.

AT N @R SIS Sl JATGFE
h 8 p *(

(A) h>p
(B) h<p
(C) h=p
(D) CRIAIDE 7F |

owe fota AB||CD 21, /BGE-9% W

(A) 45°
(B) 120°
(C) 135°
(D) 270°.

Awa @H @eelm R b fage
o 1 A 2

(A) 95° 45°, 50°
" (B) 95°,45°, 40°
(C) 65°, 85°, 50°
(D) 65°, 55°, 25°.

105.

988335

@35 MR AN 32 @5 ¢ 5 e @9
FAE (@ R 2SN IW O o1 A2
A 16 W 2@, AN 2o

83

- 44

-83

12.

(A)
(B)
(©)
(D)

59

102.

103.

104.

The areas of the parallelograms ABCD
and ABEF are equal. If their heights
be h & p respectively, then

(A) h>p
(B) h<p
(C) h=p
(D) . none of these.

In the figure below, AB| | CD, then the
value of /BGE is

(a) 45°

(B) 120°

(C) @ 135°

(D) 270°,

With which of the following angles a

tr1ang1e can be formed ?

(A) 95°, 45°, 50°
(B) 95°, 45°, 40°
" (C) 65°, 85°, 50°
(D) 65°, 55°, 25°.

105. When 32 is added to a number and

then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83
(B) - 44
(C) '~83
(D) 12.

[ P.T.O.



106.

107.

108.

109.

(ONIE qONF I x 499 TE 5 459
ST 8 5 2 @I IV AT 2o

(A) (5-x):(5+x)

(B) (x-95):(x+39)

(C) (10+x):x

(D) (x+35):(x-5).

(2x+1)% = 4x2 + 4x + 1. @ft @b

(A) FNEF

(B) SICSW

(C) SPSege

(D) CRIEIDE 7|

fReraeet @ @ RET SIS 19 : 20 26,

*owdl Hhed Ta 3o
(A)
(B)
(C)
(D)

10%

7-5%

5%

2:5%.

@b MAME 20% Jfa FaE s
2 90 | 14N @ ?

(A) 60
(B) 70
(C) 75
(D) 80.
110. (p+q)=8 9 (p-q)=62F pg-ad
T e
Aa) 7
B) 14
() 21
(D) 28.
988335

60

106. If your présent age is x, then the

107.

108.

109.

110.

ratio of your ages 5 years before and

S years after the present is

(A) (5-x):(5+x)

B) (x-95):(x+5)

(C) (10+x):x

(D) (x+5):(x-5).

(2x +1)? = 4x2 + 4x + 1. This is an

(A) equation

(B)  identity

(C) inequation

(D) none of theée.

If the ratio of sale price and purchase
price is 19 : 20, the percentage of
loss is

(A) 10%

(B) 7:5%

(C) 5%

(D) 2:5%.

If a number is iﬁcreased by 20%, it
becomes 90. The number is

(A) 60

(B) 70

(€} 75

(D) 80.

If (p+q)=8 and (p-g)=6, then the
value of pg will be

A} 7
(B) 14
C) 21
(D) 28.



1171,

142,

0.63 -97 @I 7

" =
B o
© &
o 3

A 8 B-99 I¥CIA 5% 10 424, B 8 C-&@9
YO 1T 15 999 @98 A 8 C-99 JWOE
% 20 J24| A, B 8 C-99 JOR G
O ?

(A) 12:53929
(B) 17-53%d
(C) 157=d
(D) 20 q%H |
113. 1296-@9 53T 2e
A) 24
(B) 26
(C) 36
(D) 44.
114.6:8, 32, 27, x €32 8:2-99 % 5 (&
XG99 AW 2@ |
A) 4
(B) 51
©) 41
(D) 39
115. 3 b @fies ojef>5iz2ma o1e w2
(A) 30
(B) Syl
(C) TR @ (@19 @afb
(D) CPHDE 73|
988335
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i 3 5

1125

113.

114.

The fraction of 0-63 is

63
(A) e
100
100 .
(B) 63
7
(i ahe
(C) T3
11
D) —.
B} S
The average age of A and B is

10 years and of B and C is 15 years
and of A and C is 20 years. What is
the average age of A, Band C?

(A) 12:5 years

(B) 17-5 years

(C) 15 years

(D) 20 years.

The square root of 1296 is
(A) 24

(B) 26

(C) 36

(D) 44,

The 'a\rerage of+6:8. 3:2..0:7  briand
8:2 is 5. So the value of x is
(A) 4

(B) 51

(C) 41

(D) 39

115. The average of three consecutive

whole numbers is always

(A) even

(B) odd

(C) any of these
(D) none of these.

[ P.T.O.



116. 9% 596 16 PN B9 AT
90° (FIC TNEIfE® T R POGes
Rt
(A) <ofcsa

*(B) ANEEE
(C) =
(D) Bifeiferam

117. @<f6 A% qRouEd 2fold P v
165° X1, IQQETHY AN 24
(A) 12
(B) 24
(C) 6
(D) 8.

118."WfedR  fager AABC-@3 AF (@

ZA =70° TE NG @ 7% Ao 2

(A) AB> BC
(B) AB< AC
) AC>Be
(D) AC< BC.

119. @36 woidl smfear fagem, @b
PRI N 25° JET, eI T

(A) 755°
(B) 110°
(C) 130°
(D) 155°.

120. ABC fagrew AB¥ "feM D, @
DE||BC. BC =7 cm % DE-99 W

L)
A

(A)
(B)
(€)
(D)

14 cm
7 cm
35'cm
14 cm.

988335
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116.

137

118,

119.

120.

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus :
(D) trapezium.

If each interior angle of a regular
polygon is 165°, then the number of
sides of the polygon is

(A) 12
(B) 24
(© 6
(D) 8.

The vertical angle £A of an isosceles
triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC
(B) AB< AC
(C) AC> BC
(D) AC< BC.

An acute angle of an obtuse angled
isosceles triangle is 25°. So the value

‘of obtuse angle is

(A) 75'5°
(B) - 110°
(C) 130°
(D) 155°.

In AABC, D is the mid-point of AB,
DE| | BC. If BC = 7 cm, then the value

of DE is
A

D E
B @
(A) 14 cm
(B) 7 cm
() 3:5cm
(D) 14 cm.



121. 45 e Rl 21 012 simieffp 2o

(A)

(B)

(C) @l pas 8 woffb SidiEs simel
(D) @l pae @ WIw @b (b omiel |

ToxR pEe
orEs el
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122. MR 49 GFT e Ny

SfCeRIE <& 57

(A)
(B)
(©)

(D)

123. PN ot afde @ Sotmie o ze

(A)
(B)
(C)
(D)

124. FsfeiRoefmm @m e $few = ¢

FIAS
FIBIR
g
A |

F1RfB

CTe| ST
oo

e |

(A) oM

(B) ™B@ISNZI

(C) eIy

1 |

125. }6@nfaelie om @ e srre

A Ty wIR G 2o

(A) @b

(B) WIBCHs g

(C) ewfer afe

(D) eTREICEIY |
988335
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121. When repulsion occurs between two
substances_ then those two
substances are

122.

(A)
(B)
(€)

(D)

The
the

both magnets
both magnetic substances

one is the magnet and the other
is non-magnetic substance

one is magnet and the other is
magnetic substance.

electrode which is connected to
positive pole of the battery is

- called

123.

124,

125.

(A)
(B)
(€)
(D)

cathode
cation
anode

anion,

CaSparian strip is made up of

(A)
(B)
(€)
(D)

Chitin
Cellulose
Pectin

Suberin.

Which of the following is not a green
plant ?

()
(B)
©
(D)

Lotus
Spirogyra
Agaricus

Fern.

In an eukaryotic cell, the organelle
responsible for aerobic respiration is

(A)
(B)
(C)
(D)

Chloroplastid
Mitochondria
Golgi body

Lysosome.

[ P.T.O.
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126, SHR 2ipe bW AN I ] 126. Acharya Prafulla Chandra Roy is

(A) e 5 known as
: ‘ (A) 'Master of Sulphates'
(B) ‘WD W NI - (B) 'Master of Nitrates'
(C) NI ST AIRUIRD (C) 'Master of Nitrites'
(D) B ST AFEIRG | (D) 'Master of Sulphides'.
127 Siva @ ofe oS ¢ 127. Which one of the following is the non-
A : .' : ' conductor of electricity ?
(A) o (A) Gas carbon
(B) @AIZD ' (B) Ebonite
(C) WHEYT MR _ (C) Human body
(D) W% . ? (D) S‘":l'f
: 128. For a definite resistance and for the
128. (IS IESICE RS efearRe AN definite time of flow of current, the
eifaafee 4=FE #fFaBIe Teos oI heat produced in a conductor is
proportional to
A) e e
(A) (A) the flow of current
(B) SRIRNEMR T Y fee (B) the cube root of the flow of
(C) SRRN@E I5HET AP current
(D) 2RIEEE asfa Wﬁﬂml (C) the square root of the flow of
' ' current
129. @%b f¥6e PR SfgepeTe I 21 (D) the square of the flow of current.
((g] 1-28 Vflt 129. The emf of a dry cell is
) 1:5volt :
(©) 1-05 volt (A) 1-08 volt
- (D) 1:8volt. (B) 1:5volt
130, SifEe Swer sl FIfeT oS FOCTN I (C) 1-05 volt
e 31 e a@ @R T @ 2 13- d 9ol
; 130. Why does an ink-filled fountain pen
(A) EEA bieT i ST leak at a high altitude ? e
(B) ArNSAIH 5191 27 2SI I ' (A) Atmospheric pressure incr&es
(C) Tapel &P ANV G (B) Atmospheric pressure decreases

(C) Temperature decreases

(D) Twel giwd & |

(D) Height increases.
131 qEemEd o ey 2w 2

131. Substance important for blood

(A) faferefam clotting is

'(IB) coresfae : (A) bilirubin
(B) prothrombin

& @ﬂﬂﬂigﬁ

! (C) albumin

(D) CafREr (D) globulin:

988335 _
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132, SIS Gy WA (B1a6a A 5o

()  ferscrEs
(B) «fqciEs
(C) SNRNRG
(D) CRAATCITIRG | :
133. B @3f (T Sa@Iwa A 26
(A)  CBICEPIHER
(B) SITSOEN
(C) =G
(D) SOISEIfE |
134, TIEAN R & Z@PMST
AP A I |
(A) O e
(B) AN et
(C) B (SEPI
(D) eTy |
135. SALPAIT FAENEL 1N 267
(A)  RIBOH
(B) @@
(©) IR
(D) SIfEAfer |
136. ffeiosfm @mib G s 7y 2
A) STrea
(B) TR
€ 3
(D) RART|
137. (AT W& (A AT = 26
A) ey
(B) FREICEIN
(C) (IS
(D)  GERICITCST |
138. FRHfeTR® (P SHIYe SET ARWICETHT
Y A ? -
(A) SIS QBTSN Sriferp!
(B) efeifer afe
(C) SRCACEN
(D) ©IPGa |
988335

132,

133.

134.

135.

136.

137.

138.

The cell responsible for immunity is

(A) lymphocyte

(B) erythrocyte

(C) thrombocyte

(D) hepatocyte.

The name of a female reproductive
hormone is

(A) testosterone

(B) progesterone

(C) gastrin

(D) adrenaline.

The pulmonary venous blood enters
e e chamber of the heart.

(A) right auricle

(B) left auricle

(C) sinus venosus

(D) ventricle.

The name of the emergency hormone
is

(A) thyroxine
(B) estrogen
(C) glucagon
(D) adrenaline.

Which of the following is not a
component of phloem ? -

(A) Sieve tube

(B) Companion cell

(C) Fibre

(D) Sclereid.

The site of protein synthesis in a
cell is

(A) Dictyosome

(B) Ribosome

(C) Mesosome

(D) Chromosome.

Which of the following organelle has
many ribosomes attached to it ?

(A): Rough endoplasmic reticulum
(B) Golgi body

(C) Lysosome

(D) Vacuole.

[ P.T.O.



139. (@ 434 AIMice S P @A FW

ol &5
(A) AP
(B) T&ba
(C) =l
(D) @ |
140. (T &7 2T eI (1 I @ 26
(a) =ifacra
B) fowe=
) Fefa
(D) emfbeifeE |
141. (@ =m1e% ‘aife-ger aim wfefze 2
A Az
(B) T+
(©) T
(D) ATFIZE |
142, IFEEA TomwaE 5 2
(A) I, *GIPEN FBEE @ag iR
HSTH
(B) TR, AT @ e
(C) B, AT @ 2L
(D) STereE, s A8 @3
SBITAS IS |
143. A0 GEF! REIE 3750 2
(A) SR FRECESH
(B) R RIRCTIEH
(C) I TEZHHIRC
(D) oz e |
144, S foom g FwoR 4€e o™
(A) MRS
(B) UIeby
(C) e @K
(D) (ST Cot. G |
988335
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1309.

140.

141.

142,

The type of animals
cutaneous respiration is

(A)
(B)
(©)
(D)

The phylum of animals
presence of mesoglea is

(A)
(B)
(C) cnidaria

(D) platyhelminthes.

Which substance
'bucky-ball' ?

(A)
(B)
(C)
(D)
What are the components of Gun
powder ?

showing

reptiles
amphibians
birds
mammals.

showing

porifera

ctenophora

is known as
Diamond

Gold

Fullerene

Graphite.

(A) Carbon, potassium nitrate and
potassium sulphate

(B) Carbon, sulphur and bismuth

(C) Carbon, sulphur and nitre

(D) Sulphur, sodium nitrate and

potassium sulphate.

143. The substance used in rocket fuel is

144.

(A) liquid nitrogen

(B) liquid hydrogen

(C) carbon dioxide

(D) liquid helium.

The concept of stationary orbit in an
atom was proposed by

(A) Rutherford

(B) Dalton

(C) * Neils Bohr

(D) J.dJ.Thomson.



145, M- vt Swigger zor

146.

147.

(A) Fam

)

b
(€[]

(B)
(C)

(D) g
ﬁmﬁﬁ%@@ﬁﬁiwvﬂcam{vnﬁaamﬁhﬁ§CW§
&S 7

(A)  CNTETTRT

(B) QIIEETCING

(C) @t

(D) SffETe |

FseRoefm @Rt sworin  whe
Y 2

67

145. An example of a solution made of

146.

147.

148.

149,

()

150.

(A) efzg
(B) zHafy
(C) TeaRye zwka
(D) CoTIv |
148. fsfiRosfn @miie wfefie A7
yoifHe 2
(A) ¥ Wy
(B) WIog Ny
(C) %8 Wy
(D) feif3r 3 |
149, e i oiftg sremr =01 Bifery »
(A) 2R
(B) !
(C) Ny
(D) emifSET |
150. fore=T e oy wift oG e
(A) TP
(B) 9%
(C) eIy
(D) *fIEe |
88335
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solid in solid is
(A)
B)
(C)
(D)

fog

smoke

bronze

air.

Which one of the following animal
body phyla has segmented body ?

(A)
(B)
(€)
(D)
Which of the following is not a
mammalian character ?

(A)
(B)
(©)
(D)
Which one of the following does not °
have accessory respiratory organ ?
(A)
(B)
(C)
(D)

Which one of the following animals’
locomotory organ is cilia ?

(A) Hydra
(B) Earthworm

Mollusca
Echinodermata
Aschelminthes

Annelida.

Pinna

Mammary gland

Three chambered heart
Hairs,

Anabus sp

Clarius sp

Labeo sp
Heteropneustes sp.

Paramoecium

(D) Amoeba.

The organ responsible for secretion of
bile is

(A)
(B)
(C)
(D)

liver
kidney
pancreas

stomach.

[ P.T.O.
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faetel - III (b)
et famt

Section - III (b)
SOCIAL STUDIES
a3 fenet b 60 b e || m%@ai%ﬁmw%wmwmm |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

91. ORISR AP AEII ST 2 91. The maritime boundary of India is
(A) 3 FET AR (A) 12 nautical miles
B) o e A2 (B) 13 nautical miles
(C) de FHme W=eT (C) 15 nautical miles
(D) (@B 7Y | (D) none of these.
92, JREfGIR AWEH W 92. Black soil is suitable for
(A) FIofPT BT &) (A) cotton cultivation
(B) ﬂF{ BIEY &Y (B) rice cultivation
(C) oI BIAS &) ‘ ©) wﬁeat cultivation
(D) W BICES & | (D) sugarcane cultivation.
93, wEed ¥H A% . 93. Indiais a
(A) THTANE T8 : (A) Developing country
(B) @ﬂ@ B (B) Developed country
(C) RGE 2% oA 48 (C) Least Developed country
(D) CPFDIR 7 | ' (D) none of these.
94, RIS QT @9 T 94. Result of greenhouse effect is
(A) @S (RIS (A) inversion of temperature
B) Ty SmEN (B) global warming
() v s (C) industrial pollution
(D) =W | (D) flood.

988335 6001 |
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95. OeI@l W Ty . 95. Temperature is measured by
(A)  wrcifieE (A) thermometer
(B) @cfibra | (B) barometer
(C) iefiER (C) anemometer
(D) PricerE | (D) se.isrnograph.
96. N onf REH 96. Frontier Gandhi was
(A) T 3T TR Y (A) Khan Abdul Gaffar Khan
(B) A e @I W X (B) Khan Abdul Wali Khan
(C) =M 4 (C) Shaista Khan
(D) € T 7 | .(D) none of them.
97. V GHAGB (711 1 97. Gorge-is formed in
(A) A= @Wﬁf%t@ (A) upper course of a river
(B) w717 wursifors (B) middle course of a river
(C) =il Fweifers (C) lower course of a river
(D) fowm=g Sweifers | (D) mountain stage of a glacier.
98. WRIf<y-aq fa=fy ze1 . 98. Date of spring equinox is
(A) ¢ w16 (A) 21st March
(B) 3¢ fpEg (B) 22nd December
(C) ¢ T ' (C) 21st June
(D) o GITH5T | (D) 23rd September.

988335  [6001] [P.T.0.



99, vjﬁiﬁh ﬂmlrﬁﬂ FReireyE w2

(A) AT

(B) oA=&

(C) PR

(D) G |
100. SCAHEAR SHIRI 2o

(A) TPTD (B) QTN

(C) e (D) G |
101. S3frE 9 foew
A) fpm
B) [
(C) emfw
(D) CPWOHR I |
102, ctb BRI FrETer A 2N
(A) Swoo
(B) svod ;M
(C) Svox A
(D) svoo 2 |
103. 737 AT (o¥ WA
A) = feferm fewfens
(B) (3. THERA AHEH
(C) o feresisl

(D) ¢t (P 7 |

988335
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99, Heaviest rainfall Iin the world

100.

101.

102.

received by

(A) Bangladesh

(B) Cherrapunji

(C) Shillong

(D) Mouéinram.

Example of Igneous Rock is
(A) basalt (B) sandstone
(C) marble (D) slate.
William Carey was a

(A) Missionary

(B) Poet

(C) . Linguist

(D) none of these.

is

Fort William College was established

in

(A) 1800 A.D.
(B) 1801 A.D.
(C) 1802 A.D.

(D) 1803 A.D.

103. The Young Bengal was led by

(A) Henry Vivian Derozio
(B) Rev. Krishnamohan Banerjea
(C) James Prinsep

(D) none of them.
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104. SOM5% 1S Berw

104. Womesh Chandra Bonnerjee was a

(A) TR (A) Moderate

(B) BIwoR (B) Extremist

(C) (A) @32 (B) Tox (C) Both (A) and (B)

(D) CPWGIR % | | (D) none of these.

105. MG (PH  APFRRE TN e 105. Gandhiji called for the establishment

et 2 of “

(A) ST i (A) Ramrajya

(B) erersmen (B) Ganarajya

(C) Frey : . (C) Swarajya

(D) (A) &% (C) Ty | (D) both (A) and (C).

106. fREE-e T AGHPIET SRS GEIRE 106

. Hiuen-tsang visited India during the

fof 2t _ reign of
(A) FERe G 3 (A) Chandragupta Maurya
(B) = (B) Harshavardhan
(C) fady weres (C) Nagabhatta II
(D) €T P 7 | (D) None of them.
107. A fore @<y 107. Suleiman was a/an
(A) S e (A) Arab Traveller
(B) TGN oo (B) French Traveller
(€ Z‘Bﬁﬁ e (C) Chinese Traveller
(D) FGBIR 7 | -

(D) None of these.
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108.

109.

110.

11,

1025

(A)  *fFTeT (HRCP
(B) fadw opiei
(C) TRE=

(D) IR T |
FeT I e

() g T
(B) 4 S
(€) w1 R

(D) CIFOR F |
e’ (@ cafer srefe Gt =
(A) TI®

(B) e

(C) E

(D) CWHIR 7 | :
(A) AR TPl
(B) i e
(C) T erel

(D) CMBIR 77 |
R R

A) @fF

(B) wrffne

(C) (A)93e (B) T
(D) CPHGR FF |

988335
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108.

109.

110.

3 i

112,

Muhammad Ghori defeated

(A) Prithviraj Chauhan

(B) Pulakeshin II
(C) Harshavardhan
(D) None of them.
Igta was a system of

(A) Land grants

(B) Religious endowment

(C) A

(D) None of these.

Khudkasht was a category of

(A) peasants
(B) kings
(C) nobles

(D) none of these.

The Harappan Civilization

contemporary of

(A) . Sumerian Civilization
(B) Egyptian Civilization
(C) Greek Civilization

(D) None of these.
Yajnavalka was a

(A) Saint (Rishi)

(B) Philosopher

(C) Both (A) and (B)
(D) None of these.

was
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113, i foerw 4 113. Bimbisara belonged to the
A) ®% 300y ' (A) Gupta Dynasty
(B) G qes - (B) Maurya Dynasty
(C) Haryanka Dynasty
(C) =¥=® gy
(D) None of these.
D) (MBI J7 |
() 114. Alexander invaded India during the
114. AP ©IIS SN I reign of
(A) v9eF T *PEE (A) Chandragupta Maurya

(B) (B) Dhanananda
ol i) (C) Agrammes
' (D) None of these.

D) (FNBIR 77 |

(D) 115. The Battle of Jhelum was fought
- 115. Retea (e 3 23 between

(A} npﬁ_; «ge W@m YT (A) Porus and Alexa.nder

(B) W G1e PSR NS (B) Ashoka and Alexander
W -
: (C) Bindusara and Alexander
(C) R @as srErsenaEs W
' (D) None of them.

(D) 9t T 77 | 116. River of South India is

116. ... 5569 OIATSH J7} | | PO W Sl
(A) == . (B) s (B) Ganga
(C) T D) (C) Jamuna
(D) Krishna.

117, J7T (51 BIZs Sige :
117. Royal Bengal Tigers are found in

5 e (A) Sundarban
(5} Mo ride (B) Western Ghats
(C) fRwreTn oo (C) Himalayas
(D) oIS S | (D) Garumara forest.

988335 ' |6001 | [ P.T.O.



118. A% Tweifex &1 ren

(A) T

(B) SRCHC

(C) =

(D) R 3 toR A |
119, CPFOR T ..............- % TIPS G |

(A) TR (B) Sl

© i@ (D) S |
120. INTER Ay OIS ST IW

(A) RGOS AETGH ST

(B) WRIA WBE

(C) SRR ANGH T

(D) “AFERREER Ay HBET |
121, TS SIS & 2

(&) BUCIBIIE] (B) eHifEE

(C) =RCAGR (D) SfAGIRER |
122, Fefy e R 2o

(A) CoTETISCT (B) gefare

(C) sifaEe D) &f% &fS |
123. 9 Afow aw / @b 2

(A) e (B) A
(C) o= (D) T=°@ |
988335

74

118.

119.

120.

s 155

122.

123.

Main work of a river in its upper

course is

(A) erosion

(B) deposition

(C) transportation

(D) formation of meander.

Polder is the reclaimed lands of
(A) Netherlands (B) Germany
(C) Austria (D) Scotland.

Rich deposits of minerals are found in

(A) Chota Nagpur plateau

(B) Sundarban region

(C) Plains of West Bengal

(D) Mountain region of West Bengal.
Atmospheric pressure is measured
by

(A) Barometer

(B) Thermometer

(C) Hygrometer

(D) Anemometer.

Rainfall of equatorial region is

(A) relief

(B) frontal

(C) convectional

(D) drizzle.

Longest river in the world is

(A) Mississippi

(B) Nile

(C) Ganga

(D) Brahmaputra.



124, WZRe’ 75

125.

126.

127.

128.

(A) @

(B) S5
(C) wraeFfE
(D) & G |

TR 8 T RSN Ze
(A) @w=fre s
(B) 3rew

(C) cow

(D) LR 7 |
fPeR Ty emIeTe e ¢
(A) a3 = @R
(B) I

(C) fez

(D) TfS |

AR I

)

(A) T

(B) IMH e

(C) == a1

(D) =" @ |
STy Sfew NS ITY
(A) RS Wifbre
(B) Fwifewm

(C) oree Mfbre
(D) (FIEAGIR 77 |

988335
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124.

128.

126.

127,

128.

Great circle means

(A) Equator

(B) Tropic of Cancerl
(C) Tropic of Capricorn
(D) Pole.

Dadra and Nagar Haveli is a
(A) Union Territory

(B) State

(C) District

(D) none of these.
Jaldapara is famous for

(A) one horned Rhinoceros

(B) Tiger
(C) Lion
(D) Elephant.

Cause of air pollution is

(A) smoke

(B) cleaning utensils

(C) bathing

(D) use of fertilizer.
Mangrove forest is found in
(A) Saline soil

(B) Black soil

(C) Podzol

(D) None of these.

[ P.T.O.
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129. voo b T Ghwst 221 129. Landform which is 600 metres high,
(A} Qﬁ 18
(A) Plateau
(B) g
(B) Plain
(C) *=Ie :
(C) * Hill
(D) oo | (D) Mountain.
130. G o9 W= 291 130. Earthquake prone region is
(A) A - (A) Japan
(B) SR (B) Australia
(C) South Africa
(C)  wfHwe Sl
(D) Germany.
(D) @i

_ 131. Effect of revolution of earth is
131. sl sifferre sfox w1 -

(A) change of seasons

R fRerset (B) occurrence of days and nights
B fr-aa S (C) occurrence of flood
(C) ITE AHER (D) occurrence of earthquake.
(D) R AMER | . 132. The first humans came from
132. ejorsiaﬁcaa RET 2 ..o, FRACCT | (A) Africa
A) s : (B) Asia
B) afrm il (C) North America
(©) Seq RS (D) none of these. .
(D) CORBRE A | 133. The Tropic of Cancer passes through

(A) Krishnanagar
133.@7@@@@%@%@%%@%@ :
' (B) Bankura

-

(A) FITHE (B) IV
(C) g . (D) CRWGIE W |

988335

(C) Birbhum

(D) none of these.



134.

13S.

136.

137.

138.

988335

2T @ ifera srfomren wr ze
(A) ©re s
(B) T orfo
Ll RIEIES

(D) SRFE o |

(C)

AN AFEA AT e
shqw e

(612 7 |

(A) s5a3 A (B)

(C) ssae A (D)
IR S 2]

(A)  F=o

ot

TG

(D) (B2 FF |

FCHT ST IR qeTTER o
TR 2

SR

RIS

(B)

(€)

(A)
(B)
(C) *n=en=E
(D) TR X 7 |

SIF-TI-5MN] OI00H (FIAF SIOIS B 2
e

(B) SR

A=Y

(FHBI2 97 |

(A)

(C)

(D)

77

134. The Himalayas belong to the category

135.

136.

137.

138.

6001

of

(A) Fold Mountains

(B) Bleck Mountains

(C) Volcanic Mountains

(D) Residual Mountains.
Project Tiger was started in

(A) 1972AD. (B) 1973 AD.

(C) 1975A.D., (D) none of these.

Babur was born in
(A) Fergana
(B) Delhi
(C) Ajmer
(D) none of these.

Captain Hawkins visited the court of
(A) Jahangir
(B) Akbar
(C) Shahjahan
(D) None of them.

Vasco-da-Gama came to India and
landed at

(A) Khozikode
(B) Gﬁjarat
(C) Patna

(D) none of these.

[ P.T.O.



139. TRPFRIEE TN EifF 2¥
(A) sasa qe (B)
(C) saeo Al '
140. TSy obr =M = 2
(A) Svdo
(B) Sud8 ;e
(C) svde ;M
(D) (PR T |
141, G Q8o oy el 2w
(A) - ==Y
(B) EICHE
(C) Twl=

(D) ETF @E 7 |

142, (o FTeT el (ifza A #ifafes 2

(A) 2N USY
B) o raed Rewifrer
(C) e

(D)o@ @ 7 |

143, =@1fa F oifafbe @ aren fof zeE

(A) oUW FEBY

B) ¥ Fred Rewire

(C) TEed

(D) ETR FT 7 |

988335
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(D) saso s
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139. Farrukhsiyar’s firman was issued in

140.

141.

142.

143.

(A)
(©)
The
in
(A)
(B)
(©)

(D)

1717 AD. (B) 1720 AD.

1730 AD. (D) 1740 A.D.

Second Charter Act was passed

1813 A.D.
1814 A.D.
1815 A.D.

none of these.

The last king of the Maurya Dynasty

was
(A)
(B)
(€)

(D)

Brihadratha
Kalashoka
Udayin

None of them.

Who was called Lichchhavi dauhitra ?

(A)
(B)
(©)

(D)

Chandragupta |
Chandragupta II Vikramaditya
Samudragupta

None of them.

Sakari was the title earned by

(A)
(B)
(©)

(D)

Chandragupta I
Chandragupta Il Vikramaditya
Samudragupta

None of them.
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144. @W &if 511 e 144. The Aihole Prase;sti was composed by
(a) RIS .~ (A) Ravikirti '
(B) CMeAoqg o (B) Gautamiputra Satakarni
(C) @ sl (C) Vasisthaputra Pulamayi
(D) ™R (T 77 | (D) None of them.
145. @@ sl s1aifere s 145. Pulakeshin II defeated
(A) vESY AR | (A) Chandragupta Maurya
(B) ¥ (B) Harshavardhan
(C) Mo FIeretrs (C) Nagabhatta II
(D) EoF (T 7 | : (D) None of them.
146. Free India Centre Ff%e mﬁiﬁ 146. The Free India Centre was set up in
(A) <fefer ' (A) Berlin
(B) s18W (B) London
(C) Greers (C) Tokyo
(D) @™ | (D) Rome.
147. Indian Independence League X 147. The Indian Independence League was
PAME set up by ’
(A) iR 29 (A) Rashbehari Basu
(B) oravw 3 (B) Subhas Chandra Bose
(C) <% carze g ; - (C) Captain Mohan Singh
(D) AR (BT 7 | (D) none of them.

988335 | [ P.T.O.



148. Direct Action-«ﬂ# qH] =
(A) e
(B) IS
(C) e
(D) C(PHHIR 7T |

149, C.R. Formula-q &%17 (45
(A) EE! AT
(B) foewg v
(C) A=Y IPA

" (D) 9™F @ 7 |

150. "SR G QT -9 AR 0T
(A) BEE<S! ATSICASAETBET
(B) foegs a™
(C) FEIY IPA

(D) ¢t T 7 |

988335
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148. Direct Action was initiated in

(A) Calcutta
(B) Bombay
(C) Madras

(D) none of these.
149. C.R. Formula was forwarded by

(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das
(©) Rabindranafh Tagore
(D) none of them.

'150. Amar Sonar Bangla was composed by
(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das
(©) Rabindrana’th Tagore

(D) none of them.

[6001]
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LAY FISH =)
SPACE FOR ROUGH WORK
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YHAG! PICSTT G
SPACE FOR ROUGH WORK
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fRtf / INSTRUCTIONS

( TFHEFICT APH @ e« ¥+ / Read carefully and comply )

Fay @%v?4 / IMPORTANT

15 1

12.

13,

14.

* Rl catorrel AHIE FaF wwE AW Sra wehic #16 (Rwa wenr) THefwetars o o)

At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's

%‘1‘“‘““] to the Invigilator. 3 -
SPLICE 8 b O WIg — Ak, R@E, TR, @, efow, sewd, (e @3 34| evere o 30 B oo Wy fwdice o

AR PG e STl Reia 30 B eem @ae o 93l e fely o e 30 6 ecem, 6 60 B erew $ee frre 2w

In Section-II, there are 8 languages — Bengali, English, Hindi, Nepali, Oriya, Santhali, Telegu and Urdu. Each language is
having 30 questions. The candidate has to answer 60 questions in all, taking one as First Language having 30 questions and
the other as Second Language having 30 questions as per his/her application form.

fa@rt-m 1o e tee — Fé—x\-m IHi(a) - 5116 @ &M @a2 Q@19 111(b) - e | otere et 60 B o @ | >3 W@
ofF S (P 92 RENER 63 P9 | ' -
g’:ectir.};':-lll6 (i)s diviiit;d int'? two s%qtélio{:sh— Sttg:n:n 11l{a) - Matht;r:)hatics gs Science ar]11q S%cti(j&n [Iil_[bi = Sc;‘:ial Studies. Each section
is_having 60 questions. candidate has se any gne of the sections r his/her ication Form.

ﬂ#ﬂﬁ @A OMR ¥&F(@d my TSI 2 s I%TMﬁpe 2

The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed place in the OMR Answer Sheet.

el Tema 93, OMR TEIOIET T | (40P 8, 13 @ 14 932 em9fFa @ieal 1, 3 998 4-8 ovd weisfel off o | U A9 2s
wmfﬁ[aww a3t o SIS A3 0ot TP 0T WA T OIS OMR SERoE Ff 3 e @b wifig o e Sor 4o
Read all the instructions carefully and fill the details in S1. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and Sl. Nos. 1, &4
in the Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your OMR Answer Sheet.

o fafi@ T oMR TeReE A8 By

OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

spoffSTH (D 84 o1 @3 150 B ont wICm) opmisife cyeT e onew oE SArwd FfiiE g erasifRl (e e d
2T o 7 150 b 2 &= <1 3 (AT 80 WIg o1 e @R

The Question Booklet comprises c{:ages having 150 questions. After being instructed to open the Booklet then only the candidate will
open the Question Booklet at the indicated vlgrzu:e. Check whether the Booklet contains 150 questions starting from Page No. 3 to 80
ol 28 IEAER | Ao Ao 9T TEAE 5 T T 1| @91 Twead e e WL i 2w A

All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one
mark. There will be no negative marking for wrong answers.

IR ST TN OIS 1 AR, AR KST 2@ AN | [0y AW AN (P NLCNG BN 2@ A1 {or-1 @a2 [ ia)
@3¢ I1I(b) I3 @ &YX MR G TG | (1A AT G5S S0AEH AT A6 TAAMPR Hors 4071 471 2 |

In any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in
question/s during the examination. Section-l and Section lll{a) and 111(b) are printed in Bengali and English versions. In case of
any factual discrepancy the English Version will prevail. Y

@ TS P FI00 T o (Y &G o 0e 2@ | oIt ermofe (ure fGure A1 (o wfefe e (rexl W Al
Rough work, if any, may be done in the Question Booklet onlg in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet. No additional paper shall rovi

ed.

5| , SIEPEIE, HYY P91, (NAIRA (PH, (&4, TR WeE S (W CET W9 IRQET WRS (R | Qe
(@R LA FAE ANFIAE S IET I I 2@ |

Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not
allowed. Their use will result in disquahflcatlon of the candidate.

o S WEM] @ OMR SEH%@ (8Tl T |

OMR Answer Sheet will be provided se‘g%ratety along with the Question Booklet.

s erofee @3z OMR SERerd (o1 fofi emeifel @at oMR Taaetan Fifed A s R o w0 | epaoifaeb frent emceb fro =
9 | faor! Tbh s ooy vy eolfee Yo | ereifase (e o ormd) FNR TR I (A (3 2o (P o W
mﬁimﬂ ﬂﬁftﬁ@gﬁ arie e | i eetfaem o @ e, vt wesne ot Zafsfenbace e ofred F ¢ |

ion Booklet

OMR Answer Sheet are issued to the candidate, the candidate must fill in all the entries in the Question Booklet and OMR
Answer Sheet, The Question Booklet is sealed by a reverse jacket. The candidate has to tear open the jacket at the indicated place in order to open the
Question Booklet, After opening the Question Booklet the candidate should ensure that any pagq(quesnon is not missing / not printed / torn /
repeated. In case you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced by him. d
&) oI I A, (T TS, eroffvel Mt A, cafe, forr, etww oral, e o, WS R, s wifey @3 O o
%3 OMR Tazei@s WiE W o 9=
Candidate should write Roll No,, Centre Code, Question Booklet Serial No., Category, Gender, Language-l, Language-Il, selected
Subject Group, Date of Exam and his/her Full Signature in the space provided in the OMR Answer Sheet.
o7 AT 4 1 AT TEH A, B, C @9 D WIS facy Bieve 41 w0 oifeld et 39 Fy o @ weme iy (il % W 2w ol 5w

% | oM Tadl o7 OMR Saaoi@ iy qaf o 2 o iz w1 bfew wurm o (i S 9@ AT O JRE FHA|
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find

out which answer, according to you is correct. Indicate your answer by darkeni;‘lﬁ the aPpropriate circle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use black ball point pen only.

Ao oGS : %% | CORRECT | &51 *{%fG : @4 | WRONG % | WRONG G | WRONG G | WRONG
Correct method : | @ @ © @ | Wrong method OO0 g@@@ @O0 C XX X0)

F (T 0 a9 Cre NI I (P AL 31 527Cd Al |

Once a questign i wered, no correction is permitted. i

OMR T&3 SPooIBora w1 Gl _SAlgeiEe | g&om@ww&amhﬁwﬁmﬁmmm
4141 T mqwmﬁmmlaammﬁﬁaaﬁ;{m ¢ q 8914 46T | .
OMR Answer Sheet is designed for computer evaluation. [f you do not follow the instructions given above and shown in the OMR Answer
Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
A o1 A1 A1 o (T HAPFIA SR I SO Sare (N8 | G (T8 Zr1 ST ep offFer % OMR TEReE &S

(TR 992 SATSRTEGEY (U6 SR Amen «resd Sl cwge A @A)

No candidate is allowed to leave the Examination Hall before the final bell. After cum;l:_\lletiun of the examination the candidate should hand
}wer tlﬁe f]:)lllll. l;:nswer Sheet along with the Question Booklet to the Invigilator and he/she will take back his /her portion of Admit Card
rom the Invigilator.

988335



